Lynch-~

Manifolds & Valve Packs

Section 4

Subplates

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




4.00.01
02/2002.A Iy]lc “x =

Manifolds & Valve Packs

Product Tips and Features

Subplates without Circuits

Subplates are designed to provide a means to connect a single solenoid valve to field piping either on the power unit or

near the actuator.

1. Standard materials are Aluminum and Ductile Iron. Other materials including Mild Steel or Stainless Steel are
optionally available.

2. Special Finishes including Black Oxide, Electroless Nickel Plating or Anodizing are optionally available.

3. UNC or Metric mounting bolt kits and any plugs that may be required are supplied as standard.

4. Clearance holes are located outside the solenoid valve interface limits wherever possible in order to facilitate

valve assembly prior to mounting the subplate.

5. Internal galleries have been maximized in order to minimize pressure drops and fluid velocities.

6. Port spacing has been maximized and aligned simplifying the installation of piping and minimizing space
requirements.

7. No variation in design layout for each Model regardless of Port Code.

8. All DO5H and DO5HE Subplates designed with dual tank ports on the solenoid interface in order to maximize
valve performance.

9. “05T” Code provides dual tank ports without the pilot ports for DO5H(E) designs for higher performance

applications. See note on pages 4.03.03 and 4.03.04 for complete Part Number details.
10. “ST” Porting Style includes additional tank port on side in addition to bottom NPT tank port.
11. Servo Subplates are available. Please contact Factory for Part Numbers.

12. Subplates for Gasket Mount Reliefs, Pressure Reducers, Flow Controls, etc. are available. Please contact Factory

for Part Numbers.

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




(:ll" 4.00.02
= 07/2009.B

Manifolds & Valve Packs
Index
Subplates without Circuits
D03 Subplate - Nominal 1/4” & 3/87 ... s s sss s ssmssssssnssssssnssnss 4.02.01
D03 Subplate - Nominal 1/27 ... eicrccrrisersserssssss s ssss s s s s s s s ssnsssmsssnsssnnsssnsssnsssnns 4.02.02
D03 Subplate - NOmMINal 3/47 ... s sss s ssns s snssas s s ssmss s ssmssssssnsns 4.02.03
D05 Subplate - NomiNal 1/27 ...t sess s s s s s s s ses s ssss s s s sn s n s s smessmessmnsnnnsssnnnsnns 4.03.01
D05 Subplate - Nominal 3/47 ... s s sn s s s smn s s s an s n e 4.03.02
DOSH/HE Subplate - Nominal 3/47 ..........eeeererriersssssssssssmsssssssssssssssssssssasssssssssssssnsssssssssnes 4.03.03
DOSH/HE Subplate - Nominal 17.........cirrinrnssirsss s s s sssss s sssssssssmssssssnssnss 4.03.04
D07 Subplate - Nominal 3/47 ... s ssas s s sn s s smsssan s s s n e 4.04.01
(D TVARSTU] o7 o = 1 L= Tl 1 e 4 013 F-1 e 4.04.02
(D10 FSJRSTU1 oY o] P 1 LY N\ Lo 0 4110 =1 e S 4.05.01
D08 Subplate - Nominal 1 1/47 ... s s s s an s s n s 4.05.02
SPXX
Servo Interfaces. ISO 10372 & proprietary.........ccccoviemrsmssnnsssssssssssssssssssssssssssssnns Consult Factory
S04
S06
57S
44S
PRV & Relief Interfaces 1IS06264, ISO5781 & NFPA........... e Consult Factory
08R
08P
10P
15R
06F
Oversized Interface POIS ... Consult Factory

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca

Page
75



4.02.01
wel 1 ynch -~

Manifolds & Valve Packs
H tL th
D03 Subplate - Nominal 1/4” & 3/8
SPXX_03GSPSCUAA SPXX_03GBPSCUAA
(SPXX_03GSPSBUAA) @ (SPXX_03GBPSBUAA)
3.00 ve _I I— 3.00 —I
—| —.254p — .25
' o wnasasé:n'xxas | l N o YYNISAETED™XXAS
3¢00 (-] o (] 3.00 (-] o (]
yp
2.75 ® ® © ©®
S, ®
150 | o1 T® D el 5| .250 T-|7® Qee 3| 25
| v | il | ol—L 1.0 | o2
_t P {
] |—62w 1.50 v [— T —1.50 | T
2.75 40 2.75
D03
PTEBA . UNC Mounting KIT includes: T
P | | A SP=1.25 @ 2 -1/4"-20 x 1.75"SHCS 1.25
SB/ST=1.50 Metric Mounting KIT includes: |
T 2 -M6-1.0 x 45mm SHCS —
BOTTOM VIEW 225
SPXX_03GSBSCUAA — 1.50 —|4‘
(SPXX_03GSBSBUAA) —1.50 | 75—
| e) UNC Mounting KIT includes: | 59 | | O
I 81 . 2 -1/4"-20 x 2.00"SHCS ‘ 1 50"— — o
D03 219 T 2 -Plugs : <
PTBA 3.00 | Metric Mounting KIT includes: 241 _|_ @ @
typ 2 -M6-1.0 x 50mm SHCS ‘ ™
'PI' é — — 2 -Plugs 4 |[— L
1 | 0 0
PT
BOTTOM VIEW D03
SPXX_03GSTSCUAA - 1,50 | P T B A
(SPXX_03GSTSBUAA) : @) UNC Mounting KIT includes: [ :[ |: :I I: ]
| 2 -1/4"-20 x 2.00"SHCS BT R A
D03 2.19 Metric Mounting KIT includes:
PTBA 3-00J_ 2-M6-1.0 x S0mm SHCS UNC Mounting KIT includes:
P A typ 2 -1/4"-20 x 1.75"SHCS
T B | = 3/8" NPTF Port for all *C Port Codes Metric Mounting KIT includes:
) ~— or 2 -M6-1.0 x 45mm SHCS
T 1/4" NPTF Port for all *B Port Codes
PART NUMBER SYSTEM Aluminum D03 Side Ported Subplate with SAE 6 Ports Example: SPXXA03GSPSCUAA

MATERIAL VALVE PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

PATTERN

UNC Std for | DO3 Valve |10-24 UNC x .63 dp
SAE & NPT | Subplate |1/4"-20 UNC SHCS
Metric Std for | DO3 Valve |M5 x 0.80 x .63 dp
BSP* & Metric | Subplate |M6 x 1.00 SHCS

Bl @ Subplate =14 Bottom Ported Only

Side Ported with
Bottom P & T Ports

Side Ported only

Side Ported with
3/8" NPTF "T" Port
on Bottom only *

.M Aluminum

Dl Ductile Iron

* Note for 1/4" Port Codes SAE SAE
1ISO 4401-03-02 1/4" NPTF "T" Port on NPTF 1/4" OR NPTF 3/8"
NFPA T3.5.1-D03 Bottom Only BSPP 1/4" BSPP 3/8"
BSPT 1/4" BSPT 3/8"
METRIC | M10 METRIC | M14

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




ch- 4.02.02
2 02/2002.A

Manifolds & Valve Packs
D03 Subplate - Nominal 1/2”
SPXX_03GSPSDUAA SPXX_03GBPSDUAA
..0_.
3.50
3.00 typ —I —I |[=—.25wp
— 25w 7 O yenasasoerwxas
' o wmsasien'xxas | © e
e , © 3.50 o
o 3.25 © 0
O O o
o 2| 250 T o @ .| 25
© | °® 3 | 1.34 i
P O] — i )
— |—.62w 1.50 e |— T —1.75 —| T
2.75 typ 3.25
D03 ‘
PTBA UNC Mounting KIT includes: T
o N A SP=1.38 ) 2-1/4"-20 x 2.00"SHCS 1.50
T B SB/ST=2.00 Metric Mounting KIT includes: ’
1 2 -M6-1.0 x 50mm SHCS J_
BOTTOM VIEW
SPXX_03GSBSDUAA I~ 1.50 |
UNC Mounting KIT includes:
2 -1/4"-20 x 2.50"SHCS
2 -Plugs
Do3 Metric Mounting KIT includes:
PTBA 2 -M6-1.0 x 60mm SHCS
3 A 2 -Plugs
T 9 B
PT
BOTTOM VIEW
SPXX_03GSTSDUAA I~ 1.50 =
9) UNC Mounting KIT includes:
‘ 2 -1/4"-20 x 2.50"SHCS
2.19 Metric Mounting KIT includes:
D03 ' 2 -M6-1.0 x 60mm SHCS
PTBA 3.00J_ . UNC Mounting KIT includes:
P A e . 2 -1/4"-20 x 2.00"SHCS
. Metric Mounting KIT includes:
T B ' o [ 1/2" NPTF Port 2 -M6-1.0 x 50mm SHCS
T
PART NUMBER SYSTEM Aluminum D03 Side Ported Subplate with SAE 8 Ports Example: SPXXA03GSPSDUAA

MATERIAL P\Al¢'I|:|\EIFE(N PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

UNC Std for | DO3 Valve |10-24 UNC x .63 dp
SAE & NPT | Subplate |1/4"-20 UNC SHCS
Metric Std for | D03 Valve |M5 x 0.80 x .63 dp
BSP* & Metric | Subplate |M6 x 1.00 SHCS

D@ Subplate .14 Bottom Ported Only

Side Ported with
Bottom P & T Ports

Side Ported only

Side Ported with
1/2" NPTF "T" Port
on Bottom only

.M Aluminum

Dl Ductile Iron

SAE
1ISO 4401-03-02 NPTF 1/2"
NFPA T3.5.1-D03 BSPP 1/2"
BSPT 172"
METRIC | M18

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




4.02.03
02/2002.A Iyllc “x =

Manifolds & Valve Packs

D03 Subplate - Nominal 3/4”

SPXX_03GSPSFUAA SPXX_03GBPSFUAA

| 5.00 |
—| 38 |
—°i = -334*;'30 ‘Vp I 1 ©) YYNASIRIEDXXAS
I
] ©) VUNISISIE0XXdS -
400 5.00 e , ©
- (] @
ﬁ e © ﬁ 4.63 © ©
) 3.63 © 0 @ %o
I _f typ _0 | -‘_
T © (=Y -]
2.00 1.59 z
‘ typ W | O,), _L _L
_L t P 38 38
2.00 typ —| | '
.88 typ 3.62 e
po3 T UNC Mounting KIT includes:
PTBA SP=1.75 / 2 -3/8"-16 x 2.50"SHCS
2] | | A SBI/ST=2.50 \ 1 Metric Mounting KIT includes:
T B | 2 -M10-1.5 x 60mm SHCS
BOTTOM VIEW
SPXX_03GSBSFUAA [} UNC Mounting KIT includes:
1.13 O 2 -3/8"-16 x 3.00"SHCS
1 2 -Plugs
2.88 Metric Mounting KIT includes:
2 -M10-1.5 x 75mm SHCS
D03 4.00 2 -Plugs
PTBA R
P A
T N B
PT
BOTTOM VIEW

UNC Mounting KIT includes:
O 2 -3/8"-16 x 3.00"SHCS
Metric Mounting KIT includes:

SPXX_03GSTSFUAA ‘
2 -M10-1.5 x 75mm SHCS

UNC Mounting KIT includes:
2 -3/8"-16 x 2.50"SHCS

Metric Mounting KIT includes:
2 -M10-1.5 x 60mm SHCS

| T———3/4" NPTF Port

Aluminum D03 Side Ported Subplate with SAE 12 Ports Example: SPXXA03GSPSFUAA

MATERIAL VALVE PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

PATTERN

UNC Std for | D03 Valve |10-24 UNC x .63 dp
SAE & NPT Subplate |3/8"-16 UNC SHCS
Metric Std for | D03 Valve |M5 x 0.80 x .63 dp
BSP* & Metric | Subplate |M10 x 1.50 SHCS

Subplate 214 Bottom Ported Only
Side Ported with

Bottom P & T Ports

Side Ported only

Side Ported with
3/4" NPTF "T" Port
on Bottom only

.M Aluminum

DM Ductile Iron

SAE
1SO 4401-03-02 NPTF 3/4"
NFPA T3.5.1-D03 BSPP 3/4"
BSPT 3/4"
METRIC | M27

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




ch- 4.03.01
2 02/2002.A

Manifolds & Valve Packs

D05 Subplate - Nominal 1/2”

SPXX_05GSPSDUAA SPXX_05GBPSDUAA

[~ 2.00 vp —|

| 4.00 ¢ | | 4.00 |

__l |<— .50 typ | |~ .38 v P | _,I |- 38
d
L T O YYNASASISO™XXAS o T O SJEDS0™XXdS
@ @ @ @
4.00 \— —O 400 O
typ { X
3.63 OO OO
3.62
- " 2.66 O . N 2.66 O .
. e @ @ 5 2.06 ® ® 3
‘ typ L l typ
i | o [O] 7 | O

3
K] l—_— 2.00 ;;Ig _383

__| 75 2.00 typ —| 38
typ 3.63 wp typ
D05 [—F1.7210
PTBA [} UNC Mounting KIT includes: T 50 typ
SP=1.50 2 -3/8"-16 x 1.50"SHCS 1.50 _r
; T T Q SB/ST=2.00 Metric Mounting KIT includes: :
! 2 -M10-1.5 x 40mm SHCS
BOTTOM VIEW _|
SPXX_05GSBSDUAA UNC Mounting KIT includes: _I'
| 2 -3/8"-16 x 2.00"SHCS
2.02 2 -Plugs 1.94
3.09 ' Metric Mounting KIT includes: _'_
DO5 4.00 T 2 -M10-1.5 x 50mm SHCS
PTBA t'yp 2 -Plugs
P [ A 1
T & B
PT
BOTTOM VIEW — .91
SPXX 05GSTSDUAA UNC Mounting KIT includes:
- l 2 -3/8"-16 x 2.00"SHCS
2.02 Metric Mounting KIT includes:
' 2 -M10-1.5 x 50mm SHCS
4.00
D05 tyo = P T B A
PTBA UNC Mounting KIT includes:
P T A 2 -3/8"-16 x 1.50"SHCS
T B Metric Mounting KIT includes:
T S ¥ 1/2" NPTF Port 2 -M10-1.5 x 40mm SHCS
PART NUMBER SYSTEM Aluminum DO5 Side Ported Subplate with SAE 8 Ports Example: SPXXA05GSPSDUAA

MATERIAL x¢'IFZIEN PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

K@@ Subplate UNC Std for | D05 Valve |1/4"-20 UNC x .75 dp
SAE & NPT | Subplate ]3/8"-16 SHCS
Metric Std for | D05 Valve |M6 x 1.00 x .75 dp

BSP* & Metric | Subplate |M10 x 1.50 SHCS

2] Bottom Ported Only

Side Ported with
Bottom P & T Ports

.Y Aluminum Side Ported only

Side Ported with
B3l 1/2" NPTF "T" Port
on Bottom only

Dl Ductile Iron

SAE
1SO 4401-05-04 NPTF 1/2"
NFPA T3.5.1-D05 BSPP 1/2"
BSPT 172"
METRIC | M18

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




4.03.02
08/2021.B IMIC “x =

Manifolds & Valve Packs

D05 Subplate - Nominal 3/4”

SPXX_05GSPSFUAA SPXX_05GBPSFUAA

i 5.00 |
| 463 Ul
YYNISAEDISOXXdS O T
|~ 2.00 e —]
| 4.00 typ |
— |—.50u | — 380 | } e O @
E]
T O J YUN4SISOS0XXS a 5.00 OO O 4.63
@ ] z
4.00 T —O0 3.16 ) ® 3
¥ 363 OO T 38
) v 2.66 O I O
1.84 e ) ® § 2.06 = —t
typ » .38
_L ‘ B A O - | 2.50 —~
|=——F1.00 o ~ 2.00 tp | 38 _
3.63 vp typ |
f—1.72 1ty
D05 t UNC Mounting KIT includes:
2 -3/8"-16 x 2.00"SHCS
j LI AL s:;frz_'g% o Metric Mounting KIT includes:
_Fr’ I | é e 2 -M10-1.5 x 50mm SHCS
BOTTOM VIEW |‘1—O§0'2_—’
SPXX_0SGSBSFUAA O UNC Mounting KIT includes:
2 -3/8"-16 x 3.00"SHCS
2 -Plugs
Metric Mounting KIT includes:
2 -M10-1.5 x 80mm SHCS
D05 2 -Plugs
PTBA
P LA o
g | [
P T
BOTTOM VIEW

SPXX_05GSTSFUAA O UNC Mounting KIT includes:

2 -3/8"-16 x 3.00"SHCS
Metric Mounting KIT includes:
2 -M10-1.5 x 80mm SHCS

D05 P T B A
PTBA UNC Mounting KIT includes:
pi | LA 2-3/8"-16 x 2.50"SHCS
T B Metric Mounting KIT includes:
T O | >— 3/4" NPTF Port 2 -M10-1.5 x 65mm SHCS
PART NUMBER SYSTEM Aluminum D05 Side Ported Subplate with SAE 8 Ports Example: SPXXA05GSPSDUAA

MATERIAL PX?'II:I\EIIEN PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

UNC Std for | D05 Valve |1/4"-20 UNC x .75 dp
SAE & NPT Subplate |3/8"-16 SHCS

Metric Std for | D05 Valve |M6 x 1.00 x .75 dp
BSP* & Metric | Subplate |[M10 x 1.50 SHCS

E1Y @ Subplate 2] Bottom Ported Only

Side Ported with
Bottom P & T Ports

.Y Aluminum Side Ported only

Side Ported with
B3l 1/2" NPTF "T" Port
on Bottom only

Dl Ductile Iron

SAE
I1SO 4401-05-04 NPTF 3/4"
NFPA T3.5.1-D05 BSPP 3/4"
BSPT 3/4"
METRIC | M27

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




ch- 4.03.03
2 02/2002.A

Manifolds & Valve Packs
DO5H(E) Subplate - Nominal 3/4”
3.98 yp
SPXX_05H(or E)SPSFUAE _»[— 1 ozﬂ SPXX_05H(or E)BPSFUAE
YH or XE \] - /—XH or YE
{ 5.00
59 e @ @ l:4 63—
f 5.00 typ
4.63 typ —=| -] ) o
(e} o
R sasa o On _\' 5.00 OO OO 4.62
5.00 c e ®o 3.16 -38 °e -
typ o O 7o — L 5
o)) 4.62
38 O O typ
3.16 °c@ ) 2.75 I«— .38
wo L H J typ ‘ 2.50
f Yo o
|=—1.63 10 |=—38 1 1.56 typ —}=—-n1
I———VI—Z.SO typ r
DO5H(E) 3.00
(XEEYH P T B A XH(YE) ) 22w ) ) )
e S o Ry
el B Y ~3/8"-16 X 3.
(XE,) (ZE) SP=2_.50 f Metric Mounting KIT includes: [~——4.13 XH or YE
SB/ST=3.00 2 -M10-1.5 x 80mm SHCS =250
T B 1 1.03=—
l 1.03
BOTTOM VIEW 250 '—
SPXX_05H(or E)SBSFUAE ) UNC Mounting KIT includes:
- \ 1.59 2 -3/8"-16 x 3.50"SHCS
DO5H(E) 366 L — ~ 2 -Plugs 4.13
XEEZYH P T B A XH(YE) 5 Metric Mounting KIT includes:
YH T xn 2 -M10-1.5 x 90mm SHCS
XE) | THYE) 2 -Plugs YHorXg- L%
P A .88|=—
T B I— 3.97
g
P T DO5H DO5HE
BOTTOM VIEW YHP T B AXH XEP T B AYE
SPXX_05H(or E)STSFUAE UNC Mounting KIT includes: 1NN IR
2 -3/8"-16 x 3.50"SHCS YHP T B AXH XEP T B AYE
DO5H(E) Metric Mounting KIT includes:
Y(:-I(E)YH P T B A XH(YE)H 2-M10-1.5 x 90mm SHCS UNC Mounting KIT includes:
2 -3/8"-16 x 3.50"SHCS
(XE) (YE) Metric Mounting KIT includes:
P A 2 -M10-1.5 x 90mm SHCS
T B O[—3/4" NPTF PORT
T
PART NUMBER SYSTEM Aluminum DO5H Side Ported Subplate with SAE 12 Ports & Pilot Ports Example: SPXXA05HSPSFUAE

MATERIAL PX?'II:I\EIIEN PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

UNC Std for | D05 Valve |1/4"-20 UNC x .75 dp
SAE & NPT Subplate |3/8"-16 SHCS

Metric Std for | D05 Valve |M6 x 1.00 x .75 dp
BSP* & Metric | Subplate |[M10 x 1.50 SHCS

E1D @ Subplate 2] Bottom Ported Only

Side Ported with
Bottom P & T Ports

Side Ported only

Side Ported with
B3l 3/4" NPTF "T" Port
on Bottom only

.M Aluminum

Dl Ductile Iron

See Note Below
X &Y Ports

(USA Standard) NPTF NOTE: * = NON-STANDARD OPTION
NFPA T3.5.1-D05 Alt B BSPP 3/4" 1/4" Use "05T" for Valve Pattern Code when
1SO 4401-05-05 (EURO) BSPT 3/4" 1/4" Subplate with no Pilot Ports is required
NFPA T3.5.1-D05 Alt A METRIC | M27 | M10 Example: SPXXAQ05TSPSFUAA

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




4.03.04
02/2002.A Iyllc “x =

Manifolds & Valve Packs
DO5H(E) Subplate - Nominal 1”
SPXX_05H(or E)SPSHUAE _»[—3 gﬁ '6;ﬂ SPXX_05H(or E)BPSHUAE
YH or XE~J™ '/—XH or YE
= & |
f 5.00 typ | e e O
- 4.63 o T’C') — 20 ®
' v :.me: “‘T 5.003-‘; ) g)o O% 4.62
5.00 —2—0 % 16 - 5
e ] e]le) 4.62 ! _L o
T’;:tysps 316 o8 e 1% . o 275 ‘ J_.zs_gs_—
| l { H)S \ J 1

| |-1.97 v |~—38 wp 1.56 tyo—}
2.50 typ
DO5H(E) o222 3.00

XE)YH P T B A XH(YE) UNC Mounting KIT includes:

YH | | i XH '94t_yp ) 2 -3/8"-16 x 3.50"SHCS
(XE) (YE) sp=3.00 f Metric Mounting KIT includes: -— 413

P A SBIST=3.50 2 -M10-1.5 x 90mm SHCS 250 XH or YE

T B ] 1.03[=— /_
BOTTOM VIEW |=—2.50
SPXX_05H(or E)SBSHUAE UNC Mounting KIT includes:

- 2 -3/8"-16 x 4.00"SHCS
DO5H(E) 2 -Plugs
XEEZYH P T B A XH(YE) Metric Mounting KIT includes:

YH T T XH 2 -M10-1.5 x 100mm SHCS
(XE) - b (YE) 2 -Plugs

P A

T g B O

P T DOSHE
BOTTOM VIEW =250~ XEP T B AYE
SPXX_05H(or E)STSHUAE e [ UNG Mounting KIT Includes: IHEEEE
DO5H(E) L @ - Metric Mounting KIT includes: XEP T B AYE
Y(L(E)YH' P T B A 'XH(Y)?-l 5.00 LA 2-M10-1.5 x 100mm SHCS UNC Mounting KIT includes:
- Lee we 2 -3/8"-16 x 3.50"SHCS

(XE) (YE) Metric Mounting KIT includes:

P A 2 -M10-1.5 x 90mm SHCS

T B O["—1"NPTF PORT

T
PART NUMBER SYSTEM Aluminum DO5H Side Ported Subplate with SAE 16 Ports & Pilot Ports Example: SPXXA05HSPSHUAE

MATERIAL PX?'II:I\E,:N PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

UNC Std for | DO5 Valve |1/4"-20 UNC x .75 dp
SAE & NPT Subplate |3/8"-16 SHCS

Metric Std for | D05 Valve |M6 x 1.00 x .75 dp
BSP* & Metric | Subplate |[M10 x 1.50 SHCS

19O @ Subplate 214 Bottom Ported Only

Side Ported with
Bottom P & T Ports

Side Ported only

Side Ported with 1"
a8 NPTF "T" Port on
Bottom only

.Y Aluminum

DM Ductile Iron

SAE
(USA Standard) NPTF 1" 1/4" NOTE: * = NON-STANDARD OPTION
NFPA T3.5.1-D05 Alt B BSPP 1" 1/4" Use "05T" for Valve Pattern Code when
ISO 4401-05-05 (EURO) BSPT 1" 1/4" Subplate with no Pilot Ports is required
NFPA T3.5.1-D05 Alt A METRIC M33 M10 Example: SPXXA05TSPSHUAA

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




ch- 4.04.01
2 02/2002.A

Manifolds & Valve Packs
H LR
D07 Subplate - Nominal 3/
SPXX_07GSPSFUAE 5.00 typ SPXX_07GBPSFUAE
0.38 typ 5.00
C';_ S S ——I |—0.38
10
° O 2+
s O °”’ ° O
e O 3.75 e 0:
E O T o " — 6.00 fo Q
g Lo O e typ 2.00 5.62 r % O é .
© | ©0 o oo 0.38
338 | o o | w
~—1.00 op 331 ] T 113w
4.63 typ e) _l
3.16 typ ~—3.31— | T
Do7 1.78 typ|— 4.63
YPTBAX 1 0.59 typ @ @ UNC Mounting KIT includes:
N 1 — 2 -3/8"-16 x 2.75"SHCS
: r —| | x sg};.rz_g(;;'_ Metric Mounting KIT includes:
T B ‘_ : 2 -M10-1.5 x 70mm SHCS
BOTTOM VIEW
SPXX_07GSBSFUAE UNC Mounting KIT includes:
2 -3/8"-16 x 3.50"SHCS
2 -Plugs
Do7 Metric Mounting KIT includes:
YPTBAX 2 -M10-1.5 x 90mm SHCS
Y i Lix 2 -Plugs
P A
T B
PT
BOTTOM VIEW 3.31 |
SPXX_07GSTSFUAE ) UNC Mounting KIT includes:
2 -3/8"-16 x 3.50"SHCS
Metric Mounting KIT includes:
Do7 3.75 2 -M10-1.5 x 90mm SHCS
YP TBAX 5.00 YPTBAX
Y - —| | Llx typ PN UNC Mounting KIT includes:
P A 2 -3/8"-16 x 2.75"SHCS
T B o ~—~———3/4" NPTF Port Metric Mounting KIT includes:
T 2 -M10-1.5 x 70mm SHCS
PART NUMBER SYSTEM Aluminum D07 Side Ported Subplate with SAE 12 Ports & Pilot Ports Example: SPXXA07GSPSFUAE

TYPE MATERIAL VALVE PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

PATTERN

3/8"-16 UNC x 1.00" dp
1/4"-20 UNC x 0.75" dp
=13 Bottom Ported Only Subplate |3/8"-16 UNC SHCS

Side Ported with . DO7 Valve M10 x 1.50 x 1.00" dp
Bottom P & T Ports Metric Std for M6 x 1.00 x .75" dp

BSP* & Metric
Subplate |M10 x 1.5 SHCS

UNC Std for | D07 Valve
SAE & NPT

1D 0@ Subplate

Side Ported only

Side Ported with
B3l 3/4" NPTF "T" Port
on Bottom only

.M Aluminum
Dl Ductile Iron

X &Y Ports
SAE 12 6 *= NON-STANDARD OPTION
NPTF 3/4" 1/4"
BSPP 3/4" 1/4"
BSPT 3/4" 1/4"
METRIC | M27 M10

1ISO 4401-07-06
NFPA T3.5.1-D07

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca

Page
83



4.04.02
02/2002.A Iyllc “x =

Manifolds & Valve Packs

D07 Subplate - Nominal 1”

SPXX_07GBPSHUAE

SPXX_07GSPSHUAE

4 o 358.00 typ——
~—0.38 typ 5.00
| —| [~—0.38
Ce o \ —5
g2 ® z H ) (2] (2]
5.00 >3 O Oo s - O
P 4.63 Se o g 0
| 3.50 wp | g O Q | 1 a1 | 6.00 £ OO O
—L typ 2.50 ws O e nof 263 ty 5.62 2
/) | 150 Wy o | | wp | 1.50 : : O J.
= WP { 0® © typ 325 | o© 0.38
_I ~—]-1.00 | 331 op—] —11.88 typ © © typ
1.88 typ l=— 0.38 4.63 typ 'e) _‘
typ -
3.16 typ 3.31— }
raas o e
D07 0.59 typ| Y X UNC Mounting KIT includes:
YPTBAX 3 -3/8"-16 x 4.00"SHCS
I 1 SP=3.00 Metric Mounting KIT includes: 2.75
: - —| | - ;(\ SB/ST=3.50 3 -M10-1.5 x 100mm SHCS
T B
BOTTOM VIEW
SPXX_07GSBSHUAE UNC Mounting KIT includes:
3 -3/8"-16 x 4.50"SHCS
2 -Plugs
Do7 Metric Mounting KIT includes:
YPTBAX 3 -M10-1.5 x 110mm SHCS
Y i Lix 2 -Plugs
P A
T B
P T
BOTTOM VIEW —3.31—
SPXX_07GSTSHUAE O UNC Mounting KIT includes:
3 -3/8"-16 x 4.50"SHCS
Metric Mounting KIT includes:
Do7 3.75 3 -M10-1.5 x 110mm SHCS
YPTBAX 5.00 0 YPTBAX
Y 1 | X o N\ UNC Mounting KIT includes:
P A _ "\ 2 -3/8"-16 x 3.50"SHCS
T B O = ™————1" NPTF Port Metric Mounting KIT includes:
T 2 -M10-1.5 x 90mm SHCS
PART NUMBER SYSTEM Aluminum D07 Side Ported Subplate with SAE 16 Ports & Pilot Ports Example: SPXXA07GSPSHUAE

TYPE MATERIAL VALVE PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

PATTERN

UNG Std for | D07 Valve 3/8"-16 UNC x 1.00" dp
SAE & NPT 1/4"-20 UNC x 0.75" dp

=14 Bottom Ported Only Subplate |3/8"-16 UNC SHCS

Side Ported with M10 x 1.50 x 1.00" dp
Bottom P & T Ports M6 x 1.00 x .75" dp

Subplate |M10 x 1.5 SHCS

Bl @ Subplate

Metric Std for | DO7 Valve
BSP* & Metric

.M Aluminum

Side Ported only

Side Ported with 1"
NPTF "T" Port on
Bottom only

Dl Ductile Iron

X &Y Ports
SAE 16 6 * = NON-STANDARD OPTION
NPTF 1" 1/4"
BSPP 1" 1/4"
BSPT 1" 1/4"
METRIC | M33 | M10

1SO 4401-07-06
NFPA T3.5.1-D07

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




c -~ 4.05.01
= 02/2002.A

Manifolds & Valve Packs
H 7
D08 Subplate - Nominal 1
SPXX_08GSPSHUAE SPXX_08GBPSHUAE
1.13 tvp @
P ——19aw
|~———6.00 typ——— ———6.00——
X} 0o oxe) 0o
o | i(an o
° 0. O ° O .
- O o O o
563 2| 453 A
T 38 TO_O gl I 563 —— TO_O g
y H | o% .38 |3 | o ¥
253w pi O 1 °F 2.41 @) H
typ typ
P tloo oo A t
=113 typ —] |=—.38 1.13 typ—=—]| —
=~—4.13 typ—l
5.63 typ
Do8 |=—4.06 typ—=—|
YPTBAX 1 UNC Mounting KIT includes:
y T [Tx _sp22s 143 @ 4-3/8"-16 x 3.00"SHCS
P A SB/ST=3.00 ¥ Metric Mounting KIT includes:
T B 4 -M10-1.5 x 80mm SHCS
| |——4.25——]
BOTTOM VIEW 1 O @) UNC Mounting KIT includes:
SPXX_08GSBSHUAE 241 4.-3/8"-16 x 3.50"SHCS
| 2 -Plugs
D08 4.53 —_— o Metric Mounting KIT includes:
YPTBAX 6.00 4 -M10-1.5 x 90mm SHCS
T T iy 2 -Plugs
: 3 \\
T B o) o)
PT D08
BOTTOM VIEW [=—4.25— . ) YPTBAX
O @) UNC Mounting KIT includes:
SPXX_08GSTSHUAE 4 -3/8"-16 x 3.50"SHCS
Metric Mounting KIT includes:
D08 4.53 4-M10-1.5 x 90mm SHCS YPTBAX
YPTBAKX 6.00 ) )
T T typ UNC Mounting KIT includes:
e | = X e v@\ 4.-3/8"-16 x 3.50"SHCS
" Metric Mounting KIT includes:
T L B O O] 1" NPTF Port 4 -M10-1.5 x 90mm SHCS
PART NUMBER SYSTEM Aluminum D08 Side Ported Subplate with SAE 16 Ports & Pilot Ports Example: SPXXA08GSPSHUAE

PX:'IITZFE{N PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

TYPE MATERIAL

Bottom Ported Only UNC Std for | D08 Valve [1/2"-13 UNC x 1.25" dp
Side Ported with SAE & NPT Subplate [3/8"-16 SHCS

Bottom P & T Ports Metric Std for | D08 Valve [M12 x 1.75 x 1.25" dp

B4 Side Ported only BSP* & Metric | Subplate |M10 x 1.50 SHCS

Side Ported with 1"

SIN NPTF "T" Port on
Bottom only

SPXX

Subplate

.M Aluminum

DN Ductile Iron

X &Y Ports
SAE 16 6 * = NON-STANDARD OPTION

NeTE | 1n | s
BspP | 1" | 3@
BsPT | 1" | s
METRIC | M33 | M14

I1SO 4401-08-07
NFPA T3.5.1-D08

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca




4.05.02
02/2002.A Iyllc “x =

Manifolds & Valve Packs

D08 Subplate - Nominal 1-1/4”

SPXX_08GSPSIUAE SPXX_08GBPSIUAE
.GQ{E x@ [————7.00———~
| 1-2.19 wp 6.50
6.50 tvp 1 =50
—I [=—-44 typ O ) ) Or——
—/ O O (@}
N RS @) ° O
D)ol | O O o |
yp 2 B g
\J Yo s O O T | o—() | 6
f\ | 409 | w T o—O fo 5 ' f\ ]_ e Te &
_ e ) 2.53 o O | ©° typ “ J 3.03 | O
i 9
\ J 1.47 o o) o | o
typ (] |O O O @)
|=——1.25typ 4.38 typ—| 1.25 typ—'——»l |l—4.62—
6.06 'yp——l
D08 ‘ [=—4.31 typ——|
YPTBAX 1 .63 typ @Y UNC Mounting KIT includes:
; 1 | | Tx sp=25 | | 2 -1/2"-13 x 3.50"SHCS 2.97
T A SB/ST=3.00 Metric Mounting KIT includes:
B 2 -M12-1.75 x 90mm SHCS
BOTTOM VIEW _;‘OE,'
SPXX_08GSBSIUAE ) O UNC Mounting KIT includes:
1.91 r\ 2 -1/2"-13 x 4.00"SHCS
[ I e 2 -Plugs
D08 4.53 Metric Mounting KIT includes:
YPTBAX 6.00 2 -M12-1.75 x 100mm SHCS
Y - typ r\ 2 -Plugs
: A (H
T
B e) \J
PT
f——4.75——
BOTTOM VIEW O UNC Mounting KIT includes:
SPXX_08GSTSIUAE 2 -1/2"-13 x 4.00"SHCS
Metric Mounting KIT includes:
D08 4.53 2 -M12-1.75 x 100mm SHCS
YPTBAX 6.00 T YPTBAX
vy (] | | T Jx P UNC Mounting KIT includes:
P A | 4-1/2"-13 x 4.00"SHCS
T B O ™~—1 1/4" NPTF Port Metric Mounting KIT includes:
T 4 -M12-1.75 x 100mm SHCS
PART NUMBER SYSTEM Aluminum D08 Side Ported Sub-base with SAE 20 Ports & Pilot Ports Example: SPXXA08GSPSIUAE

TYPE MATERIAL VALVE PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

PATTERN

UNC Std for | D08 Valve |1/2"-13 UNC x 1.25" dp
SAE & NPT Subplate |1/2"-13 UNC SHCS
Metric Std for | D08 Valve |[M12 x 1.75 x 1.25" dp
BSP* & Metric | Subplate |[M12 x 1.75 SHCS

SPXX

Bottom Ported Only

Side Ported with
Bottom P & T Ports

Subplate

Side Ported only

Side Ported with
Al 1-1/4" NPTF "T" Port
on Bottom only

LY Aluminum

Dl Ductile Iron

X &Y Ports
20 6 * = NON-STANDARD OPTION

SAE
NPTF 11/4" | 3/8"
BSPP 11/4" | 3/8"
BSPT 11/4" | 3/8"

METRIC | M42 | M14

1ISO 4401-08-07
NFPA T3.5.1-D08

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

Phone: 1 (888) 626-4365 or + 1 (905) 363-2400 Fax: 1 (800) 263-5807 www.lynch.ca sales@lynch.ca






